—\

57—

4

BiE A5 vy
REXLKE
IKAIERX

A% w7 (stack, push-down stack)
IRFEMBF—5 OLVT, F—5 OEH (EA) PIMOHL (MEB) &7
O Ty HEREFICHBLET— S
2y T DFHEA;MUIRRY YD Tify hETF—5ZMOH U ETOHATEE,
RSN DBFTIc H 2 ERIG. BHSIRICT—FZRMOHL TV T, ENDIRICHEBERT
BFERTERBWN (RYYVIROT— Y ZEEFALEUIDEERAARD T B EIFHE

nmzwn)
24w AT BETR IR
push r'pop
a,b,c,d OIEIC 25 T HSIER clearstack N
24w 4 Zpush d d, ¢, b, a%pop R - BR Y Vv U EHAE
push
c 28y Y ITF—5BNT B
pop
b 2y IBSF—FERD T
a .
LIFO(Last In First Out)
29y DE

TFT=I TR FERANELL

A VA

5175 (queue)
IRFEMBT—5 DLVT, F—5OBI (EA) £53—F. BOHL (@l
B) %5 5—Fh SR FIHBL LT — 5 5

& 51751 AT AR IR AE |

enter

FEITHICIcT—4 &EN

clearqueue
ML EZo/LEIERE
premove
HETIIN S T— 5 EMD T

queueDFIE queueDEKE
~\ajo|c|a|
remove enter
a, b, c, dDIEICH a, b, c,dDIEIC
5175 H S HIBR FB175ICenter

FIFO(First In First Out)
P87 R AEEANGL L

24w o OFAOYS LEEDT®

clearstack s;
LRIV Y s = {}; EEHI D

s.push(a);
AFvY s ICa%Zpushdd s <= {a};
s = {a, b, ¢, d}; RIVIDEIF {..... }; DI

s = {a, b, c}; IC push §%& s <= {a, b, c, d}y; AIFITEM

P = S.pOp;

HDd HABRDEHEINT p <=d, s <= {a, b, c};
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clearstack s;

.push(1l);

.push(2);

.push(3);

= s.pop;
print p;

p = s.pop;
print p;

= S.pop;
print p;

T nnon

o]
I

s.empty;

n n n n

RV IUERR s

{1};

= {1, 2};
= {1, 2, 3};

{1, 2}

{1};

= {};

{};

ZO7ZL6 | #FI () OXNEERENS

FEAOMD ( A Ff Spush, FEMDKEDY ) A'K7zHpopd 2
clearstack s; XFF strEARBDORRICRY v U s RETRVETFRBAEATLAL
bool flag = true;

for(i=0 ; i < str.size() ; i++ ){
char ¢ = str[i];

if( ¢ == (' ){ // FEANOHHHERLS
s.push( c );
} else if( ¢ == ")’ ){ // BEMDKEDDHHIRLS
if( s.empty() )
flag = false;

else
s.pop();

}
}
if( flag && st.empty() )

cout << "Yes"; (1+1) Yes

1 3x(2+1)+(6-(5%4))  Yes

eise (1+1) % (2+(2%3) No

cout << "No"; 4(%(2-3) No

((1+2)) /(4% (3+8)-5) Yes

clearstack s;
bool flag = true;

for(int i=0 ; i < str.size()
char ¢ = str[i];

if( e =="(" || c=="1"){ // EADOHHNES

s.push( ¢ );

} else if( ¢ == ")’

if( s.empty()

flag = false;

break;

} else if( s.top()

s.pop();
}

}else if( ¢ == ']'

if( s.empty()

flag = false;

break;

} else if( s.top() ==

s.pop();
}
}

}
if( flag && s.empty()
cout << "yes";
else
cout << "no";
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y{ // BENO®KRHLD
|| s.top() ==

FEIM (), 1 OX

NIEM () & AEM [ ] ANSVZALTWSD

;o i+t ){

A

LCIH D) L)1

RAFM ) ARS (IS, AFEM T A
o [ KRBTl

/7 RIEMOFEDD 1) AKf

){
1 A
Ao
){
(the [first] I will see at (school) is you). Yes
[ First In ] ( First Out ). Yes
This night, (walk with [you until] dawn). Yes

No

7O S LH | MAEEOYR— Y REE

JEEETORBRLE 3+4 = 34+  (3+4)*2 = 34+2%
+

/\ 12+ 4 *6 2 + +

* =~
////N\\\\ ////N\\\\ clearstack s; s ={};
s.push( 1 ); s = {1};
4 + 6 2 s.push( 2 ); s = {1, 2};
////A\\\\ s.push( s.pop + s.pop ); s = {3};
s.psh( 4 ); s = {3, 4}
1 2 s.push( s.pop * s.pop ); s = {12};
s.push( 6 ); s = {12, 6};
s.push( 2 ); s = {12, 6,
2};
s.push( s.pop / s.pop ); s = {12, 3};

s.push( s.pop + s.pop ); s = {15};

cout << s.pop; 15
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DFS(s) BR s NSDREIBERE

clearstack s;
s.push( s );
while ( not s.empty ) {
u = s.pop;
if( visited( u ) == false ) { //F u ZXRFMEHS

visited( u ) <= true;

for (each u ICHERITBES v) {

s.push( v );

727 DRSEBITRERR

stack={};
{s};

{d, a};
{d, ¢, b};
{d, c};
{d};

{£, e}
{f};

{g}:

{}:

s—a—b—-c—d—e—f—g

visit
visit
visit
visit
visit
visit
visit
visit

Q HhO Qoo 0




